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“hapter 8 Assessment. Complete thdse problems. Show all work.

For each of the following functions, sketch the granh of the polynomial, also state the degree of the polynomial:
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5.) Given the graph, write an accurate equation of the graph
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6.) Write a polynomial equation for a function
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~.) SimpIif~’ each expression.
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7.) Investigate f(x) = (x — 3)2(x + 4)3~ Make sure to discuss important points,

graph, include a table and scale your graph to make it accurate.
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a quadratic function has the complex roots x
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11.) Graph the following complex numbers:
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9) Solve f(x) = x2 + 5x + 8.
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